RE E IiE|

A WHS M




wn
[
Y
LL]
T
y
@)
@)

LogE &3l column “4d 2 X7



Column A4/

LogS &0 =
g S0 ME2 column 44




Column &%

H| T

Player information

Player action E20[0{2] A (H7], BLX[&= 2=, 2 ALE, Kill, HIAE)
Group activity =40[0{e] O &5 &S(TE|, ZE)
Network activity Sl0|0e| HIERZ (T, Hel, £H)




Player information

Column AMREI2O ™
login_count S RCIES
logout_count 27012 314

login_day_count

=
play_time Z 20| A|IZH
avg_money HH = AX|2
ip_count ip2| JH
max_level X1 |




Player action

Column ARE 28
sit_count Ot 3| A
exp_get_amount X 257
item_get_count OfO|™ 2|57
exp_repair_count k] 54
money_get_count = 2=
abyss abyss Q& sl
use_portal_count TLE AR 3l
killed_by PC/NPC PC/NPCHA & =l
teleport_count HYLE ARSI
reborn_count I=E-TRCTES
question_count HAE 2HA sl




total_party_time = TE| AI2F

quild_join_count Z
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average_party_time Ert
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Per_day

Play_time < Play_time_per_day

(0.143) (0.375)
m) Sl2 ™ Z0| A2t

Sit_count < Sit_count_per_day

(0.124)

(0.245)
m) SR HZR S
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Column X{+4

login_count

. login_count
login_count

logout_count play _time

logout_count  play_time

login_count

logout_count login_count
logout_count

avg_party_t login_count

avg_party_t

login_count login_count

logout_count  play_time
logout_count logout_count

logout_count Play_time

avg_party_t avg_party_t

avg_party_t
avg_party _t

login_count

avg_party _t

logout_count

avg_party_t
avg_party_t

=




Column X{+4

login_count logout_count play _time . e avg_party_t
: i ime

login_count login_count  logout_count  play_ti avg_party_t
login_count login_count login_count login_count
logout_count login_count logout_count  play time avg_party_t
logout_count logout_count logout_count logout_count

29HO| H{A AHA

58272 i AHA
i i avg_party_t
avg_party t login_count  logout_count Play_time g_party_
avg_party_t avg_party t avg_party_t avg_party_t
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X|E= AR column

login_count
play_time
max_level
playtime_per_day
abyss sit_count
exp_get_amout
money_get_count
teleport_count

killed_by_pc

killed_by_npc
reborn_count
login_total_day
sit_count_perday
login_total_day
item_get_count_perday
money_get_count_perday
use_portal_count_perday

teleport_count_perday

total_party_time exp_get_amount/play_time
sit_count/play_time playtime_per_day/login_total_¢
Killed_by_pc/play_time max_level/login_count

Killed_by_npc/play_time  reborn_count/login_count
total-party_time/play_time sit_count/max_level
teleport_count/play_time play_time/question_count
play_time/login_count - &5 519
exp_get_amount/play_time

playtime_per_day/login_total_day

=
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killed_by_pc < Killed_by_pc/play_time

(-0.034) (-0.088)

m) I A2HE SXo|H 2 sl

max_level < max_level/login_count

(0.091) (0.121)
m) 22 279012 $HH 5t @2l HUS X|&8tL| 20| &Lt
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Raw data Used data
e IZRESN
olE0]Ef 25 <
G| M| 0| Ef 2=k}
HMH0H 1E ————— HMO|0|E 15
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ngoost, RandomfForset,
| Qatboost




GridSearchCV

[ | vab_nodel = wab KGBCIassif ier(learning_rate =0.001,
njoe=l,
n.est inators=100,
liK._depthe 5,
nin_child_weight=C,
aama=(,

fn_est inators=2000,
subsanple={.9,
colsanple_bytree=[ 3,
nigsing=-3%,
tree_nethod="gpu_ist )

[ ] gumma_test = { gama :[1/100.0 for 1 in range(0,5)]}
goearch? = GridSearchCl(est inator = xab_nodel, paran_arid = ganna._test, scoring:f'roc_auc', tv=h)
geearch. Fit(X train,y_train) |

goarch?. cv_results_| ‘marams'|, gsearch?.best_parans._, gsearch?. best _score.

g 0,81
{"ganna = 0.02),
(0, 57693R3054585008)

- Grid Search= S ol A{

parameter®| Z[H 7t 2

rnd_clf = RandomForestClassifier(
bootstrap = False,
max_depth = None,
max_features='sqrt’,
max_leaf nodes = None,
min_impurity _decrease = 0.0,
min_impurity_split = None,
min_samples_leaf =1,
min_samples_split = 2,
min_weight_fraction_leaf = 0.0,
n_estimators = 2000,
n_jobs=1,
oob_score = False,
random_state =42,
verbose =0,
warm_start = False)

=



Catboost Random Forest

F1 score 75.043% 78.521%

#






